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1. The following data gives the number of children in 15 families of a
locality.
11,2,3,1,5,3,2,4,1,1,2,4,3,1,1

Calculate the array of above data and construct a frequency as below.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_isFGRbfeCBqK

2. The following data gives the marks out of 50, obtained by 11 students
of aclass in a test

32,23,22,18,42,18,20,17,12,9,11

Arrange them in ascending order and present it as a completed data

In exclusive form.

o Watch Video Solution

3. The following data gives the marks out of 50, obtained by 25 students
of a class in a test
32,23,22,18,42,18,20,17,12,9,1

Arrange them in ascending order

o Watch Video Solution

4. The marks obtained by 35 students of class IX of a school are given as
below:

17,9,11,9,15,11,4,22,1,17,24,3,11,20,12,9,7,0,5,3,5,13,21,13,15,20,24,1,7,21,22,10,13,18,24.


https://dl.doubtnut.com/l/_0NvI84GpYbfK
https://dl.doubtnut.com/l/_vi8qO5QsSUAY
https://dl.doubtnut.com/l/_Wjob5mRxOd0c

present the data in the form of a frequency distributions, using same

class size, starting with class 0-5

° Watch Video Solution

5.The class marks of a distributions are:
37,42,47,52,57,62,67,72,77,82,87,92

find the class size, the limits and true class limits.

° Watch Video Solution

6. Construct a frequency distribution table with class size 10 of the
following data
184,144,195,130,134,132,114,196,174,212,210,188,202,14 5,154,175,178,14 6,166,

115,135,114, 126,188,140, 166,176,208,210

° Watch Video Solution



https://dl.doubtnut.com/l/_Wjob5mRxOd0c
https://dl.doubtnut.com/l/_UHkvjjKR86pW
https://dl.doubtnut.com/l/_XNZLIu5VmTyh

7.The weight of 50 apples form a consignement are as below
113,131,75,82,204,81,84,118,110,104,107,80,141,111,143,136,78,.90,110,98,106,
99,84,107,186,76,82,109,100,115,125,107,115,93,119,89,87,139,129,130,68,73,
195,111,125,85,92,126,70,75. form the grouped frequency table by dividing
the variable range into intervals of equal width of 20 g so that the mid

vlaue of the first class intervals is 70 g.

o Watch Video Solution

8.1n an examination, the marks obtained by 32 students are as below:
290,370,175,318,410,378,405,370,380,315,305,325,275,288,241,261,355,402,380,4 2¢

form a commulative frequency table with class intervals of length 50.

o Watch Video Solution

9. A commulative frequency distributions if given below. Convert this into

a frequency distribution table


https://dl.doubtnut.com/l/_JXoas0spxN5e
https://dl.doubtnut.com/l/_nfQwqI8qNGAL
https://dl.doubtnut.com/l/_aKwRVQFIHSlT
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° Watch Video Solution

10. The following table gives the number of students in IX class in a

school during the academic years 2012-2013 to 2016-17

Academic Year I H_ﬁmher of Students
2012-13 100
2013-14 125
2014-15 200
2015-16 250
2016-17 00

Represent the above data by a bar graph.

° Watch Video Solution



https://dl.doubtnut.com/l/_aKwRVQFIHSlT
https://dl.doubtnut.com/l/_KLJjSwb1ZOZk

11. 600 students of a school use different mode of transport to go to

school s below

Mode of I No. of Sy
Transport Students

Bicycle ' 150

Rickshaw 100

Motor cycle . 125

Bus | 175

Car | 50

Draw the bar graph representing the above data.

o Watch Video Solution

12. A family with normally income of Rs.40,000 had planned the following

expenditure per month under following heads:


https://dl.doubtnut.com/l/_7K4QZfFnTnUR
https://dl.doubtnut.com/l/_GVbcgUy2Qodn

“Heads 'Rl Expenditure
(in 1000 )

b
Grocery 7
Medicine 3
Education of children b
Clothing 5
Entertainment 3
Miscellaneous B
Savings 1

— s

Draw a bar graph for the above data.

° Watch Video Solution

13. In a particular section of class IX, 40 students were asked about the
months of their birth and following graph was prepared for the above

data so obtained


https://dl.doubtnut.com/l/_GVbcgUy2Qodn
https://dl.doubtnut.com/l/_rZhlV130V9Y3
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How many students were born in the month of October?

o Watch Video Solution

14. In a particular section of class IX, 40 students were asked about the
months of their birth and following graph was prepared for the above

data so obtained


https://dl.doubtnut.com/l/_rZhlV130V9Y3
https://dl.doubtnut.com/l/_S3peV3HoidHm
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In which month were the maximum number of students born?

o Watch Video Solution



https://dl.doubtnut.com/l/_S3peV3HoidHm

15. Read the bar graph shown in fig. and answer the following questions
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What is the number of students wearing shoe NO. 5?

° Watch Video Solution



https://dl.doubtnut.com/l/_JqVzEFMbUD1m

16. Read the bar graph shown in fig. and answer the following questions
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Which shoe number is worn by the maximum number of students? Also

give its number.

° Watch Video Solution



https://dl.doubtnut.com/l/_OeG2nAJMkiyX

17. Read the bar graph shown in fig. and answer the following questions
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Which shoe number is worn by the minimum number of students? Also

give the number.

° Watch Video Solution



https://dl.doubtnut.com/l/_4DH7VIWxYEkZ

18. Read the bar graph shown in fig. and answer the following questions
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State whethe true or false

The number of students wearing shoe no. 10 is less than three times the

number of students wearing shoe no. 8.

° Watch Video Solution

19. After reading the bar graph given below

answer the following questions


https://dl.doubtnut.com/l/_ycWGFGFjIquP
https://dl.doubtnut.com/l/_z0j82VHKufLv
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Prociuction of fodd prains = an bndae Stare duning 5 cosmerative years

what information is given by the bar graph?

o Watch Video Solution

20. After reading the bar graph given below

answer the following questions


https://dl.doubtnut.com/l/_z0j82VHKufLv
https://dl.doubtnut.com/l/_Tv8qzAwYBKVS
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Prociuction of fodd prains = an bndae Stare duning 5 cosmerative years

In which year was the productions maximum?

o Watch Video Solution

21. After reading the bar graph given below

answer the following questions


https://dl.doubtnut.com/l/_Tv8qzAwYBKVS
https://dl.doubtnut.com/l/_eRcKa6FhQvKH
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Prociuction of fodd prains = an bndae Stare duning 5 cosmerative years

After which year was there a sudden fall in the production?

o Watch Video Solution

22. After reading the bar graph given below

answer the following questions


https://dl.doubtnut.com/l/_eRcKa6FhQvKH
https://dl.doubtnut.com/l/_AOduCUyp0xVU
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find the ratio between the maximum production and the minimum

production during the given period.

° Watch Video Solution

23. The results of pass percentage of class X and class XIl in CBSE

examination for 5 years are given in the following table:

Year | 2005-06 | 2006-07 | 2007-08 2008-09 2008.
X | 90 95 | w | w | »
XII 95 | 80 85 0 | o

Draw bar graphs so as to represent the above data.


https://dl.doubtnut.com/l/_AOduCUyp0xVU
https://dl.doubtnut.com/l/_TYBPnGceQUdn

° Watch Video Solution

24. Represent the following frequency distribution by means of a

histogram:

- r

'Marks  |10-20 | 20-30| 30-40 | 40-50 | 50-60 [60-70 |

| Number
]ufﬂmdmln 6 |15 |10 118 | 16 | 5

° Watch Video Solution

25. The following table presents the number of literate males in a town:

Ry | Nemberor
10-15 400
15-20 - 950
20-25 ‘ 800
25-30 580

30-35 290
35-40 ‘ 50

—— e — = o



https://dl.doubtnut.com/l/_TYBPnGceQUdn
https://dl.doubtnut.com/l/_tPrW4QBKa8vx
https://dl.doubtnut.com/l/_aF8Q7Og5vaFb

Draw a histogram to represent the above data.

° Watch Video Solution

26. Represent the following frequency distribution by means of a

histogram:

- Weight (in kg.) Number of P:r;nm ]
50-55
§5-60

60-65
&5-70

70-75
75-80
80-B5
85-90
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° Watch Video Solution



https://dl.doubtnut.com/l/_aF8Q7Og5vaFb
https://dl.doubtnut.com/l/_lCGxqspOxUbM

27.Draw a histogram for the following data:
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° Watch Video Solution

28. Draw a histogram to represent the following frequency distribution

Frequendy
L
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10

B
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o Watch Video Solution



https://dl.doubtnut.com/l/_xZB8vOU3pitN
https://dl.doubtnut.com/l/_BDDZ69BvNNhR

29. Draw a histogram from the following distributions obtained by 55

students of IX class in the examination

Marks Number of Students
Mid-point) | (Frequencyl

150 ' 6

164 a

180 10

190 5

100 A

° Watch Video Solution

30. Draw a histogram and a frequency polygon in represent the following

data, which shows the montly cost of living index of a city in a period of 2


https://dl.doubtnut.com/l/_YLLWlfKFJZL2
https://dl.doubtnut.com/l/_MU5dnHQ8obX0
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o Watch Video Solution



https://dl.doubtnut.com/l/_MU5dnHQ8obX0

31. Construct a frequency polygon for the following data:

Age Frequency
{in_years)

0-2
2=4
46
6-8
8-10
10-12
12-14
14-16
1618 U

[ NPT T - O - T - - - (I

° Watch Video Solution



https://dl.doubtnut.com/l/_GDXdJFnIClf9

32.The daily pocket expenses of 206 students in a school are given below

Pocket EXPENSES Number of Students

(lin ) (Frequency)
0-5 10
510 16
10-15 30
15-20 42
20-25 50
25-30 3
30-35 16
35-40 12

construct a fequency polygon representing the above data.

° Watch Video Solution

33.The heights of four players are

152 ¢cm, 140 c¢cm, 148 cm and 156 cm, find the mean height of players.

° Watch Video Solution

34. Find the arithmetic mean of first 8 natural numbers.


https://dl.doubtnut.com/l/_SwqfzzdPUMKO
https://dl.doubtnut.com/l/_w3BQAELKbpMt
https://dl.doubtnut.com/l/_0Blw1YjzbLf1

° Watch Video Solution

35. Find the arithmetic mean of first ten even natural numbers.

° Watch Video Solution

36. If the mean of x, x+2, x+4, x+6 and x+8 is 13, find x.

° Watch Video Solution

37.The mean of 40 numbers was found to be 35. Later on, it was detecte
that a number 56 was misread as 36. find the correct mean of the given

numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_0Blw1YjzbLf1
https://dl.doubtnut.com/l/_hU3j5g7DYuEg
https://dl.doubtnut.com/l/_sXHIZg1Si6tA
https://dl.doubtnut.com/l/_D02WJaMZoEYz

38. The mean of first 8 observations is 18 and last 8 observations is 20. if

the mean of all 15 observations is 19, find the 8th observations.

° Watch Video Solution

39. If the mean of n observatoins:
AT, ALy <« eeeun... . ATy, IS AT,

Show that (azy — az) + (azy —aZ) +........ + (ax, —aZ) =0

° Watch Video Solution

40. Obtain the sum of the deviations of the observations

3,4,6,8,14 from their mean.

° Watch Video Solution



https://dl.doubtnut.com/l/_mTJoOQuhwwJv
https://dl.doubtnut.com/l/_MejPwjp6r2at
https://dl.doubtnut.com/l/_VFQro9gofpb9

41. The mean of 10 number is 25. if 5 is subtracted from each other find

the new mean.

o Watch Video Solution

42.Find the mean of the following distributions

X 4 6
f | 5 10
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° Watch Video Solution

43. The mean of following data is 21.6. find the value of p

—— -

x, 6 12 18
fi |9 4 r

| TR |'|.:-|rlm o skl

LT

S

Fl 3

° Watch Video Solution



https://dl.doubtnut.com/l/_DByW9CwNIrM8
https://dl.doubtnut.com/l/_iCIkk04bDy56
https://dl.doubtnut.com/l/_C8N6MaXzdaWM

44.The mean of the following frequency distributions is 1.46

Mo, of accidents (x) |0 | 2 [3 4 5 Toti
‘No.ofdrivess( 46 7 7 25 10 5
Eind ihe missing freauencies.

Find the missing frequencies.

o Watch Video Solution

45. The runs scored by 11 members of a cricket team are:

10,30,43,15,35,55,20,0,58,32. find the median score.

o Watch Video Solution

46. Find the median of the following data

26,36,29,25,24,37,23,20,34

o Watch Video Solution



https://dl.doubtnut.com/l/_fhSrUbae5EaQ
https://dl.doubtnut.com/l/_G4ZNMElnveii
https://dl.doubtnut.com/l/_tWKmtNOSRLuU

47.The following observation are arranged in ascending order:
26,29,42,53 ,x,x+2,70,75,82,93

If the median is 65 find the value of x.

° Watch Video Solution

48. find the median of the following data

18,26,59,48,31,30,32,52. if 26 is replaced by 62, what will be the new median.

° Watch Video Solution

49. Find the median of the folloiwng frequency distributions

;“,'n-,t_. 3 10 | 6 7 | 1 ~
Frequency | 3 2 | 4 13 8 [

SN R e | E——

o Watch Video Solution



https://dl.doubtnut.com/l/_kWqvczN6LOyo
https://dl.doubtnut.com/l/_9X734GAVvO3N
https://dl.doubtnut.com/l/_AUuqVGwKFGP9

50. Find the mode of the following marks obtained by 20 students

3,5,6,9,3,2,8,8,6,4,5,10,3,5,7,9,9

° Watch Video Solution

51. For what value of x, the mode of the data is 12:

12,11,10,12,x,10,9,12,10,12

° Watch Video Solution

52. Find the mode of the following data:

25,23,25,28,23,16,23,16,22,17,25,23

° Watch Video Solution

53. Consider the marks out of 100, obtained by 51 students of a class in a

test, given in table below:


https://dl.doubtnut.com/l/_ogyx28JUFfK9
https://dl.doubtnut.com/l/_0p3bGWllsFve
https://dl.doubtnut.com/l/_GtQPLtkLUPf5
https://dl.doubtnut.com/l/_3GOVhQi06LkW

marks Number of students

o-10 5
10-20 10
20=30 4
3040 ]
40-50 7
500 3
G0-=710 2
T0-A0 B
80-90 3
90-100 9
Total 31

Draw a historigram and frequency polygon for the above data.

° Watch Video Solution

54. A train travels between two stations ambala and Amritsar. While
goind from Ambala to Amritsar, it takes 3 hours and its average speed is
100km/hr. when coming back from Amritsar of Ambala, it takes 2 hours

and it average speed is 150 km/hr. obtain the average speed during the

whole journey?

° Watch Video Solution



https://dl.doubtnut.com/l/_3GOVhQi06LkW
https://dl.doubtnut.com/l/_9b5BTjB7BW5o

55. The mean of n observations z1, z9, .............. x, is . If (p+q) is
added to each observations then prove that the mean of the new set of

observations is  + (p + q).

o Watch Video Solution

56. If z,%3,.............x, are p values of variabled x such that

p
Z z; —2) = 110 and Z z; —5) = 20 find the value of p and the
= i=1

mean.

o Watch Video Solution

57.5 people of a locality were asked about the time they spent in a week
in doing social work. They told the number of hous as: xx+3x+6x+7x+4.

find the mean number of devoted by first three members. If mean number


https://dl.doubtnut.com/l/_9b5BTjB7BW5o
https://dl.doubtnut.com/l/_ScTCog9xgSSu
https://dl.doubtnut.com/l/_B3MNihLro5Ls
https://dl.doubtnut.com/l/_9aWJww225vex

of hours of 5 persons is 11 hours, what values do we draw from above

data?

° Watch Video Solution

58. The percentage of salary donated by twelve difference households to
an orphanage every month are: 3,4,3,4,6,4,3,4,1,2
find the mean, median and mode of the data. What qualities do the

persons of these households possess?

° Watch Video Solution

59. Give three examples of data that you can collect from your School

° Watch Video Solution

60. find the mean of data

3,5,8,1,4,6



https://dl.doubtnut.com/l/_9aWJww225vex
https://dl.doubtnut.com/l/_mLs1IKrymdFJ
https://dl.doubtnut.com/l/_h02FiJKL5dRg
https://dl.doubtnut.com/l/_Dbq97HMa1Ip3

| o Watch Video Solution

61. The blood groups of 30 students of Class VIl are recorded as follows:
A, B,0,0,AB,0,A O,B,A/O,B,A 0O,0,A AB,O,AA 0,0, AB,B,A O,B, A B,
O. Represent this data in the form of a frequency distribution table.
Which is the most common, and which is the rarest, blood group among

these students?

o Watch Video Solution

62. Distance of 40 engineers from their place of residence to their place

of work were found as follows

s 3 10 20 25 11 13 7 1&£ 74

2
19 10 12 17 18 11 32 17 16 \
7 9 7 & 3 3 12 15 18

2 14 2 9 & 15 15 7 5..12-

construct a grouped frequency distribution table with class size 5 for the
data given above taking the first interval as 0-5. what main featues do you

observe from his tabular representation.

e l


https://dl.doubtnut.com/l/_Dbq97HMa1Ip3
https://dl.doubtnut.com/l/_H0M7LuVNgQZm
https://dl.doubtnut.com/l/_STDFu5KgJVzy

| ¥ VWatch Video Solution

63. The relative humidity (in %) of a certain city for a month of 30 days

was as follows
8.1 986 992 90.3 86.5
5.3 929 963 24.2 95.1
89.2 923 971 93.5 927
9531 911 933 95.2 973
96.2 92.1 849 920.2 95.7
98.3 973 9.1 921 89

: Construct a

grouped frequency distribution table with classes 84 - 86, 86-88 etc.

o Watch Video Solution

64. The relative humidity (in %) of a certain city for a month of 30 days

was as follows :


https://dl.doubtnut.com/l/_STDFu5KgJVzy
https://dl.doubtnut.com/l/_8NWRQlPDZ0wh
https://dl.doubtnut.com/l/_LT2H0vkE4sZ0

98.1
95.3
89.2
95.1
96.2
98.3

98.6
92.9
923
97.2
92.1
97.3

99.2
96.3
97.1
93.3
84.9
96.1

90.3
94.2
93.5
95.2
90.2
92.1

86.5
95.1
92.7
13
95.7
89

month or season do you think this data is about ?

Which

o Watch Video Solution

65. The relative humidity (in %) of a certain city for a month of 30 days

was as follows :

98.1
95.3
89.2
95.1
96.2
98.3

98.6
92.9
92.3
97.2
92.1
97.3

99.2
96.3
97.1
93.3
84.9
96.1

90.3
94.2
93.5
95.2
90.2
92.1

86.5
95.1
92.7
213
95.7
89

range of this data ?

: What is the

| e


https://dl.doubtnut.com/l/_LT2H0vkE4sZ0
https://dl.doubtnut.com/l/_kTgVxrE6h1Do

l & Watch Video Solution J

66. The height of 50 students, measured to the nearest centimetres have

been found to be as follows:
TLEIWS!

161 150 154 165 168 161 154 162 150 151
162 164 171 165 158 154 156 172 160 170
153 159 161 170 162 165 166 168 165 164
154 152 153 156 158 162 160 161 173 166
161 159 162 167 168 159 158 153 154 159,

il Ranrecani tha daz- _1.
Represent the data given above by a grouped frequency distribution

table, taking the class intervals as 160-165, 165-170 etc.

o Watch Video Solution

67. The heights of 50 students, measured to the nearest centimetres have

been found to be as follows :


https://dl.doubtnut.com/l/_kTgVxrE6h1Do
https://dl.doubtnut.com/l/_cqNEfiyu91iM
https://dl.doubtnut.com/l/_14o0oQEvT4jB

161 150 154 165 168 161 154
162 150 151 162 164 171 165
158 154 156 172 160 170 153
159 161 170 162 165 166 168
165 164 154 152 153 156 158

162 160 161 173 166 161 159
162 167 168 159 158 153 154

159 : What can

you conclude about their heights from the table ?

o Watch Video Solution

68. A study was conducted to find out the concentration of sulphur
dioxide in the air in parts per million (ppm) of a certain city. The data

obtained for 30 days is as follows :

0.03 0.08 0.08 0.09 0.04 0.17
0.16 0.05 0.02 0.06 0.18 0.20
0.11 0.08 0.12 0.13 022 0.07
0.08 0.01 0.10 0.06 0.09 0.18
0.11 0.07 0.05 007 0.01 0.04

Make a



https://dl.doubtnut.com/l/_14o0oQEvT4jB
https://dl.doubtnut.com/l/_q5gH5aMG3sF5

grouped frequency distribution table for this data with class intervals as

0.00 - 0.04, 0.04 -0.08 and so on.

° Watch Video Solution

69. A study was conducted to find out the concentration of sulphur

dioxide in the air in parts per million (ppm) of a certain city. The data

obtained for 30 days is as follows :

0.03 0.08 0.08
0.16 0.05 0.02
0.11 0.08 0.12
0.08 0.01 0.10
0.11 0,07 0.05

0.09
0.06
0.13
0.06
0.07

0.04
0.18
0.22
0.09
0.01

0.17
0.20
0.07
0.18
0.04

For how many

days, was the concentra-tion ofsulphur dioxide more than 0.1 parts per

million.

o Watch Video Solution



https://dl.doubtnut.com/l/_q5gH5aMG3sF5
https://dl.doubtnut.com/l/_jkPoDpXSpFGm

70. Three coins were tossed 30 times simultaneouslyEach time

thenumber of heads occurring was noted down asfollows :

O1IZ2=21=2 3 130
131122 0 121
300112 3 220 ...

frequency distribution for the data given above

o Watch Video Solution

71. The value of m upto 50 decimal places is given below:
3.14159265358979323846264338327950288419716939937510 (i) Make a
frequency distribution of the digits from O to 9 after the decimal point.

(ii) What are the most and the least frequently occurring digits?

o Watch Video Solution

72. The value of 7 upto 50 decimal places is given below:

3.14159265358979323846264338327950288419716939937510 (i) Make a


https://dl.doubtnut.com/l/_K5jEXwPm4rpj
https://dl.doubtnut.com/l/_67uqzmjWk35L
https://dl.doubtnut.com/l/_AyGUL3gaSz33

frequency distribution of the digits from O to 9 after the decimal point.

(ii) What are the most and the least frequently occurring digits?

o Watch Video Solution

73. Thirty children were asked about the number of hours they watched

TV programmes in the previous week. The results were found as follows :

16235 11 § B48
103 4 122 8 15 1 17 6

IZ2RRS9OG 8 7 1412

: How many

children watched television for 15 or more hours a week ?

o Watch Video Solution

74.The following number of goals were scored by a team in a series of 10
matches : 2, 3, 4, 5, 0, 1, 3, 3, 4, 3 Find mean, median and mode of these

scores :

o Watch Video Solution



https://dl.doubtnut.com/l/_AyGUL3gaSz33
https://dl.doubtnut.com/l/_dZM9gUoo7nI7
https://dl.doubtnut.com/l/_xOq1vb2a9XLL

75. In a mathematics test given to 15 students, the following marks (out
of 100) are recorded: 41, 39, 48, 52, 46, 62, 54, 40, 96, 52, 98, 40, 42, 52, 60

Find the mean, median and mode of this data.

° Watch Video Solution

76. The following observations have been arranged in theascending
order.If themedian of the data is 63, find the value of x : 29, 32, 48, 50, x,x +

2,72,78, 84,95

° Watch Video Solution

77.Find the mode of 14, 25, 14, 28, 18, 17, 18, 14, 23, 22, 14, 18.

° Watch Video Solution



https://dl.doubtnut.com/l/_xOq1vb2a9XLL
https://dl.doubtnut.com/l/_HytYyn45OaNK
https://dl.doubtnut.com/l/_iVhuNIwBPBUO
https://dl.doubtnut.com/l/_x8hOe0NTtM8o

78. Give an example of a situation in which : the mean is an appropriate

measure of central tendency.

° Watch Video Solution

79. Give one example of a situations in which:

The mean is not an appropriate measure of central tendency but the

median is an appropriate measure of central tendency?

° Watch Video Solution

80. The frequency distribution

(arh 0-20 20-40 40-60 60-100

Numberof ., 15 20 125
students

has

repesented graphically as follows

been


https://dl.doubtnut.com/l/_53bdtQSkkjY7
https://dl.doubtnut.com/l/_aC6KVNCimgVU
https://dl.doubtnut.com/l/_mcRL636LebmP
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Do you think this representation is correct? Why?

o Watch Video Solution

81. In a diagonstic test in Mathematics given to students, the following

marks are recorded: 46,52,48,11,41,62,54,53,96,40,98,44

which average will be a good representative of the above data and why?

o Watch Video Solution

82. A child says that the median of 3,14,18,20,5 is 18. what does not the

child understand about finding the median?

e l



https://dl.doubtnut.com/l/_mcRL636LebmP
https://dl.doubtnut.com/l/_IAeWTkBLk7qh
https://dl.doubtnut.com/l/_7DqcILeYh9yF

L T vvaldnl vidcoO o01ution J

8. A football player scored the following number of goals in the 10
matches:

1,2,5,8,1,4,7,9

since the number of matches is 10 therefore, the median=

5thobservation + 6thobservation 8+ 6

= =17 is it's the correct
2 2

answer and why?

o Watch Video Solution

84. s its correct to say that in a histogram, the area of each rectangle is
proportional to the class size of the corresponding class interval? If not,

correct the statement

o Watch Video Solution



https://dl.doubtnut.com/l/_7DqcILeYh9yF
https://dl.doubtnut.com/l/_6ZmHdMRMsSri
https://dl.doubtnut.com/l/_vzeTxocfUiFi

85. The class marks of a continuous distribution are 1.04, 114, 1.24, 1.34,
144,154, 164 Is it correct to sya that he last interval will be 1.55-1.73?

Justify your answer.

o Watch Video Solution

86. The blood groups of 30 students of Class VIl are recorded as follows:
A, B,0,0,AB,0,A,O,B,A, O0,B,A O,0,A AB,O,A A OO AB,B,A O, B, A B,
O. Represent this data in the form of a frequency distribution table.
Which is the most common, and which is the rarest, blood group among

these students?

o Watch Video Solution

87. The value of m upto 50 decimal places is given below:
3.14159265358979323846264338327950288419716939937510 (i) Make a
frequency distribution of the digits from O to 9 after the decimal point.

(ii) What are the most and the least frequently occurring digits?


https://dl.doubtnut.com/l/_FdoxweqltAt9
https://dl.doubtnut.com/l/_6MJQ80pCwhCM
https://dl.doubtnut.com/l/_b3SP5VjCEY4x

o Watch Video Solution

88.The scores (out of 100) obtained by 33 students in a Mathematics test
are:

69,48,84,58,84,48,73,83,48,66,58,66,64,71,64,66,69,
66,83,66,69,71,81,71,73,69,66,66,64,58,64,69and 69.

Prepare a frequency table for the above scores.

o Watch Video Solution

89. A class consists of 50 students out of which 30 are girls, the mean of
mark scored by girls in a test is 45 and that of boys is 30. determine the

mean score of the whole class.

o Watch Video Solution

90. Mean of 50 observations was found to be 80.4. but later on, it was

discovered that 96 was misread as 69 at one place. Find the corect mean.


https://dl.doubtnut.com/l/_b3SP5VjCEY4x
https://dl.doubtnut.com/l/_53MlxKERg1CP
https://dl.doubtnut.com/l/_ns3YtLuW4zAQ
https://dl.doubtnut.com/l/_9mKDoHJafu0F

° Watch Video Solution

91. Ten observations 6,14,15,17x+1,2x-13,30,32,34,46 are written is an

ascending order. The median of the data is 24. find the value of x.

° Watch Video Solution

92. The points scored by a basket ball team in a seris of matches are as
follows:
17,2,7,27,25,5,14,18,24,48,10,8,7,10,28

Find the median and mode for the data.

° Watch Video Solution

93. In the fig. there is a histogram depicting daily wages of workers in a

factory. Construct the frequency distribution table


https://dl.doubtnut.com/l/_9mKDoHJafu0F
https://dl.doubtnut.com/l/_PSkuOP6rgWvf
https://dl.doubtnut.com/l/_J7Pmr9WR9P4Q
https://dl.doubtnut.com/l/_sd6itrQuVYrf
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o Watch Video Solution

94.The following are the marks of 60 students in Mathematics
16,13,5,80,86,7,51,24,56,70,19,16,36,34,42,34,35,73,55,75,52,72,97,74,4 5,62,
68,86,35,81,75,55,26,95,31,7,78,92,62,52,56,15,63,25,54,44,47,27,17,4,30
Construct a grouped distribution table with width 10 each of the class

starting from 0-9.

o Watch Video Solution



https://dl.doubtnut.com/l/_sd6itrQuVYrf
https://dl.doubtnut.com/l/_TJr8sVfXQsdF

95. Find the mean of the given data

104,5,2,8,4

o Watch Video Solution

96. Draw a histogram of the following distribution

Heights (in cm) No. of students
130 - 153 7
153 - 156 ]
156 — 159 14
159 = 162 10
162 - 165 [
165 — 168 5

° Watch Video Solution



https://dl.doubtnut.com/l/_6nSLJKxLlGPx
https://dl.doubtnut.com/l/_csbSiU0yiPEA

97. Draw a histogram to represent the following grouped frequency

distribution:

FuuFI:I.l u]:-qq.ll.a.l.l._-r —

Ages (in years) Number of teachery

20 - 24 10
25 — 29 28
30 - 34 32
35-39 45
40— 44 50
45 — 49 35
50 — 54 12

° Watch Video Solution

98. The length of 40 leaves of a plant are measured correct to one

millimetre, and the obtained data is represented in the following table.


https://dl.doubtnut.com/l/_0QGJ56VhRDqu
https://dl.doubtnut.com/l/_BG473jsYRvdS

5 e

L

Length in mm Number of leaves
118-126 3
127-135 -
136-144 2
145-153 12
154-162 5
163-171 4
172-180 2

histogram to represent the given data.

Draw

a

° Watch Video Solution

99. The marks obtained of a class of 80 students are given below

Marks Mumber of students
10 =20 [
20 - 30 17
3 = 5 15
50 - 70 16
70 — 1N} 26

Construct a histogram to represent the data above.

° Watch Video Solution



https://dl.doubtnut.com/l/_BG473jsYRvdS
https://dl.doubtnut.com/l/_MhWLa5DP5X71

100. Following table shows a frequeny ditribution for the speed of cars
pasing through a particular spot on a high way, draw the histogram and

frequency polygon representing the data above.

Class interval Frequency

(kem/h

30 — 40 3
40 - 50 &
50 - &0 25
60 - 70 65
70 — BO 50
80 = 90 18
30 - 100 14

o Watch Video Solution

101. The following table gives the distribution of students of two sections

according to the marks obtained by them :


https://dl.doubtnut.com/l/_VCkvuBDYrUBs
https://dl.doubtnut.com/l/_lAEesqZisP6Q

Section A Section B

Marks Fregquency Marks Frequency

(1-10 3 0-10 -
10-20 9 10-20 19
20-30 17 20-30 15
30-40 12 J0-40 10
40-50 9 40-50 1

: Represent

the marks of the students of both the sections on the same graph by two
frequency polygons. From the two polygons compare the performance of

the twosections.

o Watch Video Solution



https://dl.doubtnut.com/l/_lAEesqZisP6Q

102. The mean of the following distribution is 50

* f
10 17

30 Sa 4+ 3
50 3z
70 Ta-11

90 19

Find the value of a and hence the frequencies of 30 and 70.

° Watch Video Solution

103. The mean marks of boys and girls in an examination are 70 and 73,
respectively. If the mean marks of all the studetns in that examinatin is 71,

find the ratio of the number of boys to the number of girls.

° Watch Video Solution



https://dl.doubtnut.com/l/_nZ0I0F8Xk4m9
https://dl.doubtnut.com/l/_f948huAsv2wE

104. A total of 25 patients admitted to a hospital are tested for levels of

blood sugar and the results obtained were as follows

87 7 83 67 85

7 &9 76 &5 85
85 54 70 68 80
3 78 &8 A5 73

1 T8 Bl 77 75.
— = mm PR T p— | | W

find the mode of the above data.

° Watch Video Solution

1. Define

Statistics as a subject.

° Watch Video Solution



https://dl.doubtnut.com/l/_GGkNzqVI3mu3
https://dl.doubtnut.com/l/_bMyudXNAqJAG

2. Define

Few fundamental characterstics of Statistics.

o Watch Video Solution

3. Define primary and secondary data. Which of them is more reliable and

why?

o Watch Video Solution

4. Explain the meaning of the following terms:

variate.

o Watch Video Solution

5. Explain the meaning of the following terms:

class interval.



https://dl.doubtnut.com/l/_hhuN2WRHHuH2
https://dl.doubtnut.com/l/_A4mAkaG3Ja0i
https://dl.doubtnut.com/l/_3Ti80h7xVMb7
https://dl.doubtnut.com/l/_mAKav47N9PUk

| & Watch Video Solution

6. Explain the meaning of the following terms:

class size.

o Watch Video Solution

7. Explain the meaning of the following terms:

class mark.

o Watch Video Solution

8. Explain the meaning of the following terms:

frequency of a class

o Watch Video Solution



https://dl.doubtnut.com/l/_mAKav47N9PUk
https://dl.doubtnut.com/l/_Sd6FxiNkDPxF
https://dl.doubtnut.com/l/_8rYPqaA7SzjB
https://dl.doubtnut.com/l/_rteKiXvVT7mi

9. Explain the meaning of the following terms:

cumulative frequency of a class.

° Watch Video Solution

10. Explain the meaning of the following terms:

true class limits

° Watch Video Solution

11. Write the class size in each of the folowing

0-4,5-9,10-14

° Watch Video Solution

12. Write the class size in each of the folowing

10-19,20-29,30-39



https://dl.doubtnut.com/l/_1dsSbPMiK0dE
https://dl.doubtnut.com/l/_boNeUKw6fTcl
https://dl.doubtnut.com/l/_9KfATxd8O5wM
https://dl.doubtnut.com/l/_F04zf1gM1pkO

| & Watch Video Solution

13. Write the class size in each of the folowing

100-120,120-140,140-160

o Watch Video Solution

14. Write the class size in each of the folowing

0-0.25,0.25-0.50,0.50-0.75

o Watch Video Solution

15. Write the class size in each of the folowing

5-5.01, 5.01-5.02, 5.02-5.03.

o Watch Video Solution



https://dl.doubtnut.com/l/_F04zf1gM1pkO
https://dl.doubtnut.com/l/_VJhF49BlefJT
https://dl.doubtnut.com/l/_Cq6bMN1EJx9I
https://dl.doubtnut.com/l/_NR9SqAA4JWH1

16. The final makrs in Mathematics of 30 students are as follows
(53, 61, 48, 60, 78, 68, 55, 100, 67, 90), (75, 88, 77, 37, 84, 58, 60, 48, 62, 56),
Arrange these marks in the ascending order, 30 to 39 one group, 40 to 49

second group etc.

° Watch Video Solution

17. The final makrs in Mathematics of 30 students are as follows
53, 61, 48, 60, 78, 68, 55, 100, 67, 90, 75, 88, 77, 37, 84, 58, 60, 48, 62, 56, 44, £

What is the highest score?

° Watch Video Solution

18. The final makrs in Mathematics of 30 students are as follows
(53, 61, 48, 60, 78, 68, 55, 100, 67, 90), (75, 88, 77, 37, 84, 58, 60, 48, 62, 56),

What is the lowest score?

° Watch Video Solution



https://dl.doubtnut.com/l/_hJPFWMaJZ8xF
https://dl.doubtnut.com/l/_qJZJPYDewdAL
https://dl.doubtnut.com/l/_dkH49ZZ9mpT4

19. The final makrs in Mathematics of 30 students are as follows

53 61 48 60 78 68 55 100 67 90
75 88 77 37 84 58 60 48 62 56
44 58 52 64 98 59 70 38 50 60

What is the range?

o Watch Video Solution

20. The final makrs in Mathematics of 30 students are as follows
53, 61, 48, 60, 78, 68, 55, 100, 67, 90, 75, 88, 77, 37, 84, 58, 60, 48, 62, 56, 44, £

What is the highest score?

o Watch Video Solution

21. The final makrs in Mathematics of 30 students are as follows
(53, 61, 48, 60, 78, 68, 55, 100, 67, 90)

(75, 88, 77, 37, 84, 58, 60, 48, 62, 56)

(44, 58, 52, 64, 98, 59, 70, 38, 50, 60)

How much have scored 75 or more?



https://dl.doubtnut.com/l/_O2qkOejDcaew
https://dl.doubtnut.com/l/_XPFpCEROz9Em
https://dl.doubtnut.com/l/_aDsh042OQmwz

| o Watch Video Solution

22.The final makrs in Mathematics of 30 students are as follows
(53, 61, 48, 60, 78, 68, 55, 100, 67, 90)

(75, 88, 77, 37, 84, 58, 60, 48, 62, 56)

(44, 58, 52, 98, 59, 70, 38, 50, 60)

Which observations between 50 and 60 have not actually appeared?

o Watch Video Solution

23.The final marks in Mathematics of 30 students are as follows
(53, 61, 48, 60, 78, 68, 55, 100, 67, 90)

(75, 88, 77, 37, 84, 58, 60, 48, 62, 56)

(44, 58, 52, 98, 59, 70, 38, 50, 60)

How many have scored less than 507

o Watch Video Solution



https://dl.doubtnut.com/l/_aDsh042OQmwz
https://dl.doubtnut.com/l/_4OrwXG1MNRj9
https://dl.doubtnut.com/l/_Wdbm3XmQdXTH

24. The number of runs scored by a cricket player in 25 innings are as
follows:
26,35,94,48,82,105,53,0,39,42,71,0,64,15,34,67,0,42,124,84,48,139,64,47

Rearange these runs in ascending order.

o Watch Video Solution

25. The number of runs scored by a cricket player in 25 innings are as
follows:
26,35,94,48,82,105,53,0,39,42,71,0,64,15,34,67,0,42,124,84,48,139,64,47

Determine the player's highest score.

o Watch Video Solution

26. The number of runs scored by a cricket player in 25 innings are as
follows:
26,35,94,48,82,105,53,0,39,42,71,0,64,15,34,67,0,42,124,84,48,139,64,47

How many centuries did he score?


https://dl.doubtnut.com/l/_AwvoAN2tOroa
https://dl.doubtnut.com/l/_dx3gvKUBCuXY
https://dl.doubtnut.com/l/_XNGANQpIqDMJ

o Watch Video Solution

27. The number of runs scored by a cricket player in 25 innings are as
follows:
26,35,94,48,82,105,53,0,39,42,71,0,64,15,34,67,0,42,124,84,48,139,64,47

How many times did he score more than 50 runs?

o Watch Video Solution

28. The number of runs scored by a cricket player in 25 innings are as
follows:
26,35,94,48,82,105,53,0,39,42,71,0,64,15,34,67,0,42,124,84,48,139,64,47

How many times did the player not score a run?

o Watch Video Solution

29. Following data gives the number of children in 40

families:2,1,5,6,1,5,1,3,2,6,4,2,0,4,4,3,2,2,0,0,1,2,2,4,3,2,0,5,1,2,4,3,4,1,2,2,6


https://dl.doubtnut.com/l/_XNGANQpIqDMJ
https://dl.doubtnut.com/l/_JUZ0e42VGXzk
https://dl.doubtnut.com/l/_pacTYyaRKxyP
https://dl.doubtnut.com/l/_tR6DBqAwTDhb

Represent it in the form of frequency distribution, taking classes 0-2,2-4

etc.

o Watch Video Solution

30. The marks scored by 40 students of class IX in mathematics are given
below:

81, 56, 68, 79, 85, 13, 29, 68, 54, 73, 47, 35, 72, 64, 95, 44, 50, 77, 64, 35, 79, 52,
45,54,70, 83,62,64,72,92, 84, 76, 63, 43, 54, 38, 73, 68, 52, 54.

Prepare a frequency distribution with class size of 10 marks.

o Watch Video Solution

31. The heights of 30 students of class IX are given below:
158,155,154,158,160,148,150,153,159,161,148,157,162,159,151,154,156,152,156
J160,152,147,155,163,155,153,157. prepare a frequency distributions table with

150-154 as one of the class intervals.

o Watch Video Solution



https://dl.doubtnut.com/l/_tR6DBqAwTDhb
https://dl.doubtnut.com/l/_cgjxMB43pLpt
https://dl.doubtnut.com/l/_5JA86SefD05G

32.The daily maximum temperature recorded in a certain city during the
month of November are as follows:

24.5, 25.8, 25.6, 20.7,
21.8,20.5,20.6,20.9,23.1,22.4,21.5,22.7,22.8,22.0,23.9,22.8,23.8,24.6,21.1,23.9

Represent them as a frequency distribution table with class size 1°C.

o Watch Video Solution

33.The yearly savings (in rupees) of 30 students of X are as follow:
50,60,53,70,70,80,60,53,75,47,47,47,75,53,60,70,70,80,53,50,53,70,75,75,60,80,47,%
a frequency table using tally marks.

How much saving is minimum?

o Watch Video Solution

34. Following are the ages of 360 patients getting medical treatment in a

hospital


https://dl.doubtnut.com/l/_5JA86SefD05G
https://dl.doubtnut.com/l/_nH0P1gO0dgYe
https://dl.doubtnut.com/l/_6ZAJsBOEZfk6
https://dl.doubtnut.com/l/_ngCTsAwO19Ul

Age (in year 10-20[20- 0,040 8050 20 tp
Number s0 50 (80 50 %

of Patients J_'H;' B LA il Rcindl
e PSS dalle do .

Construct a commulative frequency table for the above data.

° Watch Video Solution

35. Given below is a cummulative frequency table

LN el L R e

| Marks  Number of Studenfs
| Below 10 16

Below 20 23

Below 30 29

Below 40 37

Below 50 30
 Below &0 60
P A S, B, P p— e T

Extract a frequency table from the above.

o Watch Video Solution



https://dl.doubtnut.com/l/_ngCTsAwO19Ul
https://dl.doubtnut.com/l/_5icN5fm0CQz3

36. Make a frequency table from the following

LR 2 L i I-I'I-ﬂ'l.'l-l'll-.r AT gy e eme—— -

Marks Obtained Number of Studeat

More than &0 a
More than 50 Lo
More than 40 A0
More than 30 i
More than 20 85
More than 10 !
More than 0 L0

° Watch Video Solution

37.One a certain day the temperatuer in a city was recorded as under:

revorded as under

Irllimhl q JUI, H oL ITY | ‘I II | J P_['n_ i} rm
Temperature ; |
| a5 L0 OO - O -2 s

wia . —

lllustrate the data by a bar graph.

° Watch Video Solution



https://dl.doubtnut.com/l/_No08GjaK3T0a
https://dl.doubtnut.com/l/_Z10MlgppMBuq

38. The following table shows the favourite sports of 250 students of a

school. Represent the data by a bar graph

~ Sports | No.of Students

" Cricket 72
Football - 40

i Tennis 50
Badminton 20
51.-.rm1mmg N (0 ]

° Watch Video Solution

39. Given below is a table which shows the year wise strenght of a school.

Represent this data by a bar graph

= Year i ~ No. of students
23 700
| 2013-14 B7S

2014-15 1200 '
| 201516 | 1300

2016-17 15 J

° Watch Video Solution



https://dl.doubtnut.com/l/_srOiNteJApH1
https://dl.doubtnut.com/l/_w6A02SWiHHXC

40. The birth rate per thousand in five countries over a priod of time is

shown below

Country [ Birth rate per oupnd
| china | -
| India &
' 16
Turkey I
UK | ®

Represent the above data by a bar graph.

° Watch Video Solution

41.The air distance of four cities form Delhi are given below

[ ] —_—

iy [Diiane from Delh U
Yol | T 1340
| Mrrba 1100

Chennai | o

Hyderabad i__———i—_lil.?.a -

Draw a graph to represent the data.

° Watch Video Solution



https://dl.doubtnut.com/l/_QBLOUoTNIvnZ
https://dl.doubtnut.com/l/_90pHIbaAxM2O

42. Gold prices on 4 consecutive wednesdays were as under:

TR R LNATL

_w k_ __-_'H__“_,_.p-erlﬂ'ﬂuf_}__!
it ol selieni |
- _F: t__ =1 30,000
1=
Second 29,500
Third 30,500 |
igr _—'—'__._I
Fourth e AnitaL -

Draw a bar graph to represent the data.

o Watch Video Solution

43. Various modes of transport used by 1950 students of a school are

given below

Shool Bus | ‘;:; |
Private bus 5]

Bicycle 110

Rickshaw 150 ) J
Bj'l foot = A aka

Draw a graph to represent the above data.

° Watch Video Solution



https://dl.doubtnut.com/l/_90pHIbaAxM2O
https://dl.doubtnut.com/l/_7XzOEdFJsdaw
https://dl.doubtnut.com/l/_gcoudviJaa45

44. The following table shows the daily production of TV sets in a

industry for 7 days of a week

Days | Mumber of T.V. 5588
— Mi_'lﬂ ﬁ

Tue

Wed 150

Thurs 350

Sat 350

Sun L

e it hw bar graph,

Represent the above information by bar graph.

° Watch Video Solution



https://dl.doubtnut.com/l/_xXKY8rgIIgiB

45. Read the bar graph shown in fig. and answer the following questions

Murriher of tickets sold —
2 &
|

G+

=0+ —

_“]__
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i
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o i ]
3 3 :
g1 %‘ E

Ll i

What is the information given by the bar graph.

o Watch Video Solution



https://dl.doubtnut.com/l/_qOAWzDthyvSE

46. Read the bar graph shown in fig. and answer the following questions

3
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How many tickets of Orissa State Lottery were sold by the agent?

o Watch Video Solution



https://dl.doubtnut.com/l/_7N7NUl3Ym5we

47.Read the bar graph shown in fig. and answer the following questions

3
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Of which state were the maximum number of tickets sold?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZuGW55VPGcRW

48. Read the bar graph shown in fig. and answer the following questions

4

Ti[l]-- -
o 4
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% 704
¥ 601
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Z 34
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b e

The maximum number of tickets sold is three times the minimum number

of tickets sold.

o Watch Video Solution



https://dl.doubtnut.com/l/_9anXNLUgAPVM

49. Read the bar graph shown in fig. and answer the following questions

3
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Of which state were the minimum number of tickets sold?

o Watch Video Solution



https://dl.doubtnut.com/l/_VBBJzbqL4b7Y

50. Read the bar graph shown in fig. and answer the following questions

LTI |

Y
L4l
o iy
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1R
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What is the information given by the bar graph?

Sumber of eommercial banks

HEL R

>y

E 011
|
i
2004
2M5
204

R

o Watch Video Solution



https://dl.doubtnut.com/l/_36JlGMUtEHa7

51. Read the bar graph shown in fig. and answer the following questions

LTI |

Y
L4l
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What was the number of commercial banks in 2010?

B

Sumber of eommercial banks

>y

E 011
|
i
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2M5
204

R

o Watch Video Solution



https://dl.doubtnut.com/l/_M6ogGNkJ8Occ

52.Read the bar graph shown in fig. and answer the following questions

LTI |

120 — [

Sumber of eommercial banks
£
]
]

3
24
2015
&
Yy

What is the ratio of the number of commercial banks in 2008 to that in

20147

o Watch Video Solution



https://dl.doubtnut.com/l/_ZDXiUULVGBJy

53.Read the bar graph shown in fig. and answer the following questions

LTI |

120 — [

Sumber of eommercial banks
£
]
]

ik
24
2015
&
Yy

The number of commercial banks in 2016 is less than double the number

of commercial banks in 2008.

o Watch Video Solution



https://dl.doubtnut.com/l/_D3raSAE78QE3

54. What is the information given y the bar graph

T Tk
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° Watch Video Solution



https://dl.doubtnut.com/l/_7j1X3fWMf7TY

55.The number of governement companies in 1996 is that of 2011 of 1:9

? Tk

=¥

159
2001
2006
A1
X012

° Watch Video Solution

56. The number of government companies have decreased over the year

1998 to 2012.


https://dl.doubtnut.com/l/_QS2QVWwW9KV7
https://dl.doubtnut.com/l/_qlar8sLPGXKt

o Watch Video Solution



https://dl.doubtnut.com/l/_qlar8sLPGXKt

57. Read the following bar graph and answer the following questions

Ll i B By
Cr] Wi
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Haryana

What information is given by the bar graph?

o Watch Video Solution



https://dl.doubtnut.com/l/_8CbLgAUdMikO

58. Read the following bar graph and answer the following questions

Ll i B By
Cr] Wi

=

Ll
I
L]

=
FB.

3 3

Sates ——

Haryana

Which state is the largest producer of rice?

o Watch Video Solution



https://dl.doubtnut.com/l/_6ecIoSlXzTZF

59. Read the following bar graph and answer the following questions

Ll i B By
Cr] Wi

=

Ll
I
L]

=
FB.

3 3
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Haryana

Which state is the largest producer of wheat?

o Watch Video Solution



https://dl.doubtnut.com/l/_3Q4oCpQ7aeKq

60. Read the following bar graph and answer the following questions
|

L ] Rice
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Which state has the total production of wheat and rice as its maximum?

o Watch Video Solution



https://dl.doubtnut.com/l/_4ZgTCUtltI55

61. Read the following bar graph and answer the following questions
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Which state has the total production of wheat and rice minimum?

o Watch Video Solution

62. Read the following the bar graph in fig. and answer the following

questions


https://dl.doubtnut.com/l/_vW7Ltb1Gn1X4
https://dl.doubtnut.com/l/_TNcqWCu64obv

Expenditure (in 100 Crones of rupees) —
B

H10-11
=y

2011412
? 01213
lzmalu

1415

What was the expenditure on health and family planning in the year 2012-

13?

° Watch Video Solution

63. Read the following the bar graph in fig. and answer the following

questions


https://dl.doubtnut.com/l/_TNcqWCu64obv
https://dl.doubtnut.com/l/_hR1nb1k1w8u7

Expenditure (in 100 Crones of rupees) —
B

=y

211
211-12
?EIIIE—IE
lzma—u
201415

In which year is increased in expenditure maximum over the expenditure.

° Watch Video Solution

64. Read the following the bar graph in fig. and answer the following

questions



https://dl.doubtnut.com/l/_hR1nb1k1w8u7
https://dl.doubtnut.com/l/_9HQSjWdh3hnZ
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What information is given by the bar graph?

° Watch Video Solution



https://dl.doubtnut.com/l/_9HQSjWdh3hnZ

65. What information does it gave?

o Watch Video Solution



https://dl.doubtnut.com/l/_GUWWKjzzcFWu

66. In which part the expenditure on education is maximum in 2000?

° Watch Video Solution



https://dl.doubtnut.com/l/_vUVSUD8v6ovJ

67. In which part the expenditure has gone up from 2000 to 20127

net Y | S
wl ] LR H &
i T o 3 ‘ i 7
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° Watch Video Solution



https://dl.doubtnut.com/l/_wpqmbp2nJefH

68. In which part the gap between 2000 to 2012 is maximum?

° Watch Video Solution



https://dl.doubtnut.com/l/_xOWQR68k0Zin

69. The daily wages of 50 workers in a factory are given below:

__gvenbelow: T T e
Daily wages  Number of |

S— L Workers |
140-180 I - 15 '
180220
220-260 14 !
260-300 '
300-340

— 340380 2

Mo _

Construct a histogram to represent the above frequency distribution.

° Watch Video Solution

70. Draw a histogram for the frequency distributions of the following

data


https://dl.doubtnut.com/l/_39SYDbuLC1ur
https://dl.doubtnut.com/l/_haGtOjlgm0cg

° Watch Video Solution

71. The following table shows the number of illiterate persons in the age

group in a town


https://dl.doubtnut.com/l/_haGtOjlgm0cg
https://dl.doubtnut.com/l/_vKQS1tJu6DX2

[ —— - - T — Numbtf n’

| Gyems | iterste Pamsons |
10-16 o 180
17-23 | 320 ,
24-30 o0
31-37 160
38-44 - 240
45.51 425

i 52-58 L . 525

Draw a histogram to represent the above data.

o Watch Video Solution

72. Construct a histogram for the following data:

. L — —
Monthly School Mo. of Schools
fee lin 7) s Ll N
J0-60 4
60-90 10
90-120 16
120-150 20
150-180 10
180-210 8
w0 |
Thestar m Wlaie e & 1 1T

° Watch Video Solution



https://dl.doubtnut.com/l/_vKQS1tJu6DX2
https://dl.doubtnut.com/l/_AgcOk3pNfGEq

73. Draw a histogram for the daily earnings of 30 drug stores in the

following table
S .-\.r\.l.-l.rll'J.IlE Idl-"tl

_Dmfmuﬁ"'” No. of Stores
450500 e
S00-550 10
550-600
600-650

° Watch Video Solution

74.The ages of 360 patients treated in a hospital on a particular day are

given below


https://dl.doubtnut.com/l/_AgcOk3pNfGEq
https://dl.doubtnut.com/l/_mk0ja2V5wRFh
https://dl.doubtnut.com/l/_LWCiX3fFnXtw

60-70
I.Jr.“ “Mmm{i ﬂ]ﬂ &H'Ilun_.

Draw a histogram and the frequency polygon on the same grap to

represent the above data.

° Watch Video Solution

75. Draw a frequency polygon for the following frequency distribution

e —

e b &

Class interval f.ﬁ'_'mﬂ'r—-—~
- 130 [ 7
11-20
21-30
31-40 10
41-50 .
51-60 .



https://dl.doubtnut.com/l/_LWCiX3fFnXtw
https://dl.doubtnut.com/l/_LWpJs670QJo6

[ W Watch Video Solution ]

76. Draw a histogram for the following data:

“Classinterval | Frequenty | |
00-640 20 '
45 .
40-680 |
680-720 | 155
720-760 286
760-780 173
65
800-840 | |
L : - ' B '

° Watch Video Solution

77. The following is the distribution of total household expenditure of

manual worker in a city The total numbers of workers whose earning is


https://dl.doubtnut.com/l/_LWpJs670QJo6
https://dl.doubtnut.com/l/_qRutb6cfMoHn
https://dl.doubtnut.com/l/_976b8SmTxjtf

between 100-250 is

gty samine oy

. (in T) .

o150 o
150-200 ig
200-250
250-300 a
300-350 0

| 350-400 21
400-450 13
450-500 L e

° Watch Video Solution

78. The montly profits of 100 shops are distributed as follows

Draw a histogram for the data and show the frequency polygon for it.

 Profit per shop T

— 050 e
| 50-100 ig

| 100-150

150-200 13
200-250 =
250-300 6

: ] i - H iz amd shom tho



https://dl.doubtnut.com/l/_976b8SmTxjtf
https://dl.doubtnut.com/l/_MGOdutMZC7i3

° Watch Video Solution

79. Find the mean of first five natural numbers.

° Watch Video Solution

80. Find the mean of all factors of 10.

° Watch Video Solution

81. Find the arithmetic mean of first ten even natural numbers.

° Watch Video Solution

82.The number of children in 10 families of a locality are: 2,4,3,4,2,0,3,5,1,6

Find the mean number of children per family.

° Watch Video Solution



https://dl.doubtnut.com/l/_MGOdutMZC7i3
https://dl.doubtnut.com/l/_JqRZRAr0USFd
https://dl.doubtnut.com/l/_Ov5NcRFXsml4
https://dl.doubtnut.com/l/_eAiG8yfbtmk1
https://dl.doubtnut.com/l/_U2EqCcqqI2FW

83. Find the mean of first five multiples of 3.

° Watch Video Solution

84.The number of children in 10 families of a locality are: 2,4,3,4,2,0,3,5,1,6

Find the mean number of children per family.

° Watch Video Solution

85. The following are the number of books issued in a school library
during a week:
105, 216, 322,167,273,405 and 346. find the average number of books issued

per day.

° Watch Video Solution



https://dl.doubtnut.com/l/_U2EqCcqqI2FW
https://dl.doubtnut.com/l/_7pJo3qzRIYn5
https://dl.doubtnut.com/l/_B2cRpJOQQvJp
https://dl.doubtnut.com/l/_RFllOhNOo6l3

86. If the arithmetic mean of 7,9,1,13,x,21 is 13, find the value of x.

° Watch Video Solution

87. The mean of 20 numbers is 43, if 6 is subtracted from each of the

numbers, what will be the new mean?

° Watch Video Solution

88. The mean of 12 numbers is 40. if each numbers if divided by 8, what

will be the mean of the new numbers?

° Watch Video Solution

89. The mean of 20 numbers is 18, if 3 is added to each of the first ten

numbers, find the mean of the new set of 20 numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_ng0zjEv7D8dS
https://dl.doubtnut.com/l/_fEYYCapANYQb
https://dl.doubtnut.com/l/_e2SmDtlk8auK
https://dl.doubtnut.com/l/_VCWOVwNN2YTd

90. The mean of 100 items was found to be 64. later on, it was discovered
that two itens were misread as 26 and 9 instead of 36 and 90 respectively.

Find the correct mean.

° Watch Video Solution

91. The mean of 200 items was 50. later on, it was discovered that the two
items were misread as 92 nd 8 instead of 192 and 88, find the correct

mean.

° Watch Video Solution

92. The mean of six numbers is 23. if one of the number is excluded, the

mean of the remaining numbers is 20. find the excluded number.

° Watch Video Solution



https://dl.doubtnut.com/l/_VCWOVwNN2YTd
https://dl.doubtnut.com/l/_SjDAsDMuKXWf
https://dl.doubtnut.com/l/_Pqlb58NmWRmk
https://dl.doubtnut.com/l/_ObrJvcJ9Bl01
https://dl.doubtnut.com/l/_afsjpG9vbxrx

93. The mean of 5 numbers is 18, if one number is excluded, their mean is

16. find the excluded number.

° Watch Video Solution

94. The mean of marks scored by 100 students was found to be 40, later
on, it was discovered that a score of 53 was misread as 83. find the correct

mean.

° Watch Video Solution

95. Obtain the sum of the deviations of the observations

3,4,6,8,14 from their mean.

° Watch Video Solution

96. If z is the mean of ten natural numbers z, T3, z,........... T19 sShow

that:


https://dl.doubtnut.com/l/_afsjpG9vbxrx
https://dl.doubtnut.com/l/_V5MeXEi1Ton1
https://dl.doubtnut.com/l/_HNn8SJhWCq3Q
https://dl.doubtnut.com/l/_vqYpNhTZY9dt

(1 —2)+ (22 —Z)+.oeeveeeee + (210-0ev-...2) =0

° Watch Video Solution

97. Durations of sunshine in Delhi for first 10 days of Auguse, 2016 as
reported by the Meterological Department are given below:
9.6,5.2,3.5,1.5,1.6,2.4,2.6,8.4,10.3,10.9

Find the mean =

° Watch Video Solution

98. Durations of sunshine in Delhi for first 10 days of Auguse, 2016 as
reported by the Meterological Department are given below:

9.6,5.2,3.5,1.5,1.6,2.4,2.6,8.4,10.3,10.9

10
Verify that Z (z; —z) =0
i=1

° Watch Video Solution



https://dl.doubtnut.com/l/_vqYpNhTZY9dt
https://dl.doubtnut.com/l/_lAU5QoWe4RCm
https://dl.doubtnut.com/l/_DqrIUabfJ2Mk

99. A cricketar has a mean score of 58 runs in nine innings. Find out how
many runs are to be scored y him in the tenth inning to raie the mean

score to 61.

° Watch Video Solution

100. The average monthly salary of 20 workers in an office is Rs 7650. If
the manager's salary is added, the average salary becomes Rs 8200 per

month. What is the manager salary per month?

° Watch Video Solution

101. The mean of 31 results is 60. if the mean of first 16 results is 58 and

that of the last 16 results is 62, find the 16th results.

° Watch Video Solution



https://dl.doubtnut.com/l/_AlqBj2M9ZaSO
https://dl.doubtnut.com/l/_wSg9I5lNWKrD
https://dl.doubtnut.com/l/_rSRL4sldCSYO

102. There are 50 students in a class, of which 40 are boys. The average
weight of the class is 44 kg and that of girls is 40 kg. find the average

weight of the boys.

° Watch Video Solution

103. Find the mean of the following data
" LT RSAI OF TNE IOHOWING dAta:

x (19 21 [23 [25 [27 (2@ W
f 113 15 |16 |18 [16 |15 |13

° Watch Video Solution

104. find the mean of daily wages of 60 workers in a factory as per data

given below:

e

Daily wages (in ®) 90 110 120 1w N
Ne. of workers 12 14 13 [

° Watch Video Solution



https://dl.doubtnut.com/l/_qT1D4ugHKXhU
https://dl.doubtnut.com/l/_NurarsFAu90k
https://dl.doubtnut.com/l/_Lp8PQDEKn1w4

105. Find the mean of the following frequency distribution

| Viaruphle [1_I} 1 W 5D il a4

° Watch Video Solution

106. If the mean of the following frequency distribution is 8, find the value

of p
; Tﬂ 15 : 7 __J 9 ].“ 13
-r' 1 1> | p B 4

° Watch Video Solution

107. find the missing freuency p for the following frequency distribution

whose mean is 28.25


https://dl.doubtnut.com/l/_Lp8PQDEKn1w4
https://dl.doubtnut.com/l/_7UQJD5qFOpSw
https://dl.doubtnut.com/l/_rsGH20QfkjMq
https://dl.doubtnut.com/l/_jUVXRsBVCXCl
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o Watch Video Solution

108. If the mean of the following data is 15, find p
“TT5 jJo_Pp5 Ro [25 |
7 le |p |6 1o |5 |

e — =

| L —
-

° Watch Video Solution

109. find the value of p for the following distribution whose mean is 16.6
T ILES NPT B marees 15 JAar

: |s pz 18 [p

4
f 12 16 20 |24 i s Tl lOWINE

o Watch Video Solution



https://dl.doubtnut.com/l/_jUVXRsBVCXCl
https://dl.doubtnut.com/l/_uMPPwYliMojK
https://dl.doubtnut.com/l/_P9bXoIIC10Tx

110. Find the value of p if the mean of the following distributions is 20

distribution 1% Lu. 23
E 15 |17 |19 |0+ F 6
.f 2 3 4 SF

o Watch Video Solution

111. Find the median of the following data:

12,11,6,7,10,17,9,15,13

o Watch Video Solution

112. Find the median of the following data:

15,6,16,8,22,21,9,18,25

o Watch Video Solution



https://dl.doubtnut.com/l/_TjQ8wsS26rKe
https://dl.doubtnut.com/l/_PXlHDsitCwSS
https://dl.doubtnut.com/l/_ZmTOy0JiGnlc

113. Find the median of the following data:

74,2,51,4,0,10,3,8,5,9,2

° Watch Video Solution

114. Find the median of the following data:

31,38,27,28,36,25,35,40

° Watch Video Solution

115. Find the median of the following data:

72,63,29,51,25,60,55,91,85,82

° Watch Video Solution

116. Find the median of the following data:

12,11,6,7,10,17,9,15,13



https://dl.doubtnut.com/l/_ZNPv6Uu1Ry25
https://dl.doubtnut.com/l/_0FyQNijOYpfR
https://dl.doubtnut.com/l/_QYj9kTsD1YFH
https://dl.doubtnut.com/l/_ccPEWrEE3sQk

I & Watch Video Solution

117. Construct a grouped frequency table with class intervals 0-5, 5 -10 and
so on for the following marks obtained in Biology (out of 50) by a group
of 35 students in an examination : O, 5, 6, 7, 10, 12, 14, 15, 20, 22, 25, 26, 27,
8,11,17,3,6,9, 17,19, 21, 22, 29, 31, 35,37, 40, 42, 45, 49, 4, 50, 16 and 20.:

Which group contains the maximum number of students ?

o Watch Video Solution

118. The weight of 8 children are

13.4,10.6,12.7,17.2,14.3, 15, 16.5, 9.8 find the median weight.

o Watch Video Solution

119. The following observation are arranged in ascending order:
26,29,42,53 ,x,x+2,70,75,82,93

If the median is 65 find the value of x.


https://dl.doubtnut.com/l/_ccPEWrEE3sQk
https://dl.doubtnut.com/l/_tVOXr4dWjuUT
https://dl.doubtnut.com/l/_gpCAycN2e5Dq
https://dl.doubtnut.com/l/_gPpVlSXNsiRc

° Watch Video Solution

120. Find the median of the following observations:
46, 74,87,41,58,77,35,90,55,92,33
If 92 is replaced by 99 and 41 by 43 in the above data, find the new

median.

° Watch Video Solution

121. Find the median Weight for the following data:
T WiE LRFetdarms = - 1 Fa

ar |46 |48 5"'] el il |
Weight lin kg) 45 _I r;;;_z.

S— H | ’
th!' ni Ehl . ll ---I‘l‘l-ﬂ' I-Ia.tl

° Watch Video Solution



https://dl.doubtnut.com/l/_gPpVlSXNsiRc
https://dl.doubtnut.com/l/_XIIZQ2YebjAD
https://dl.doubtnut.com/l/_gqtnkn27g127

122. Find the median for the following data:
FIM O piesLmes s — 28 |18 |10
73 [ 26 | 20 | 3*5—.[ 2’:-} -+ +
1 B

'\ru-uu
i =11 § i 6 | 13
I-'rlqur-nrjf__ B Bt 2

(R

o Watch Video Solution

123. Find the mode of the following data:

0,1,6,5,6,4,3,0,2,6,5,6

o Watch Video Solution

124. Find the mode of the following data:

15,23,25,20,40,27,22,25,8

o Watch Video Solution



https://dl.doubtnut.com/l/_PmdJn1sZJVhP
https://dl.doubtnut.com/l/_x5Xhr6I4BS8p
https://dl.doubtnut.com/l/_QfZ6QgKtpQGj

125. Find the mode of the following data:

120,110,120,130,110,140,130,120,120,140

° Watch Video Solution

126. Find the mode of the following data:

15,23,25,20,40,27,22,25,8

° Watch Video Solution

127. Find the mode of the following data:

8.5,8.3,8.2,8.2,84,8.78.7,8.3,8.2,8.6,8.2

° Watch Video Solution

128. Calculate the mode of the following sizes of shoes, sold in a shop on

a day:


https://dl.doubtnut.com/l/_XWgNSM2BZy1z
https://dl.doubtnut.com/l/_W8fRwWOt89RP
https://dl.doubtnut.com/l/_eZYe4XEJhR5e
https://dl.doubtnut.com/l/_MqEEJCEaajXE

4,8,7,58,3,2,8,1,5,4,8,6,1,2,89,5

° Watch Video Solution

129. For what value of x the mode of the following data is 5?

1,2,5,7,5,2,5,9,2,3 x,11

° Watch Video Solution

130. For the data 1,5,7,x+1,9,x-2,3 if the mean is 4, find the value of x. Also,

find the mode of the data.

° Watch Video Solution

131. The points of scored by a volley ball team in a series of matches are
as follows
2,17,7,25,27,5,14,18,24,10,10,48,8,7,10,28

find the median and mode for the data.



https://dl.doubtnut.com/l/_MqEEJCEaajXE
https://dl.doubtnut.com/l/_otIQGvagiEZx
https://dl.doubtnut.com/l/_zqe2V9aBUngb
https://dl.doubtnut.com/l/_8NOhdMFPgHC1

| ° Watch Video Solution

132. Calculate the mode of the following by using empirical formular

.-L'___ig"_hﬂ 20 (25 [30 34 a8 [a0 |
|_f___£_ﬁ- 3 |7z |7 [5 |5

= _J e ! s

° Watch Video Solution

133. Calculate the mode of the following by using empirical formular

o =

x 5__?:7_]['9 12 |14 |17 19 |21 |

Cem oma s e ——

3Lﬁ53'24|

o Watch Video Solution

134. The following table shows the weight of 50 persons

Weight (in kg) 7 52 57 TF@"
HumbEt of persons 13 8 1 _5_5__|___



https://dl.doubtnut.com/l/_8NOhdMFPgHC1
https://dl.doubtnut.com/l/_sevLUC5nnzyF
https://dl.doubtnut.com/l/_GxAQQXsgo6yG
https://dl.doubtnut.com/l/_8ccP0vR4CvPo

find the mean, median, and mode.

° Watch Video Solution

135. A survey conducted by an organisation for the cause of illness and
death among the women between the ages 15-44 worldwise, found the

following figure

i
| 5 No. Causes Female
| 1 fatality
- | rate (%)

1. | Reproductive health | 318

L | Neuropsychiatric conditions | 25.4

3. |Injuries | 124

4. |Cardiovascularconditions | 4.3

5 |Respiratory conditions | 4.1
_ﬁ'- _ﬂl‘]‘ll!r Causes J 22.0

Represent the infomration given above graphically.

° Watch Video Solution



https://dl.doubtnut.com/l/_8ccP0vR4CvPo
https://dl.doubtnut.com/l/_G4EI8IEIYOLq

136. A survey conducted by an organisation for the cause of illness and
death among the women between the ages 15-44 worldwise, found the

following figure

: ., Hl:l-.,! Causes  Female
! : fatality
I_ | . rate (%)
1 ) T
L. |Reproductive health | 318
 conditions '
2. | Neuropsychiatric conditions 254
3. | Injuries 12.4
4. |Cardiovascular conditions = 4.3
3. | Respiratory conditions 4.1
6. | Other causes 2.0

Which conditions s the major cause of wome's fill health and death

worldwide?

° Watch Video Solution

137. A survey conducted by an organisation for the cause of illness and
death among the women between the ages 15-44 worldwise, found the

following figure


https://dl.doubtnut.com/l/_DcMCvDplrahA
https://dl.doubtnut.com/l/_8OYMS1wVfhmM

Ll Causes Female

| Fatality
- | ) | rate (%)
1. | Reproductive health | 318
'conditions :
2 Neuropsychiatric conditions | 25.4
3. |Injuries [ 12.4
4. |Cardiovascular conditions = 4.3
5. |Respiratory conditions | 4.1
| & _ﬂt.lu_r causes | 220

i 3 el

Try to find out with the help of your teacher, any two factos which play a

major role in the cause in above being hte major cause.

° Watch Video Solution

138. The following data on the number of girls per thousand boys in

different sections of Indian society is given below:


https://dl.doubtnut.com/l/_8OYMS1wVfhmM
https://dl.doubtnut.com/l/_oIIeFPBxSmr9

o v T Tedl “Im

Section Number of gitly
Per thougang by,
Scheduled Caste (SC) %40
Scheduled Tribes (ST) 97q
MNon SC/ST 920
Bll:kﬂ'il'd districts 950
MNon-backward districts 920
Rural 930
Urban 910

Represent the information above by a bar graph.

° Watch Video Solution

139. The following data on the number of girls per thousand boys in

different sections of Indian society is given below:


https://dl.doubtnut.com/l/_oIIeFPBxSmr9
https://dl.doubtnut.com/l/_NQkCQQbyk3YC

Section Number of girl,
Per thougang by,
Scheduled Caste (SC) %40
Scheduled Tribes (ST) 97q
MNon SC/ST 970
Bil.l:kﬂ'il'd districts 950
MNon-backward districts 920
Rural 930
Urban 910

In the classroom discuss the what conclusions can be arrived at from the

graph.

° Watch Video Solution

140. Given below are the seats won by different political parties in the

polling outcome of a state assembly elections :

Politicall A B T D E F
Parties
Seats 75 55 3T 29 1 37
Waon

graph to represent the polling results.

: Draw a bar

| ° Watch Video Solution


https://dl.doubtnut.com/l/_NQkCQQbyk3YC
https://dl.doubtnut.com/l/_LjRINv7w5v2I

141. Given below are the seats won by different political parties in the

polling outcome of a state assembly elections :

Political A B © D E F
Parties
Neats 75 55 3T 29 1 37
Won

political party won the maximum number of seats.

Which

o Watch Video Solution

142. The length of 40 leaves of a plant are measured correct to one

millimetre, and the obtained data is represented in the following table.


https://dl.doubtnut.com/l/_LjRINv7w5v2I
https://dl.doubtnut.com/l/_47b7pUpuDN9s
https://dl.doubtnut.com/l/_BuFiK1Om9kVD

Length in mm Number of leaves
118-126 3
127-135 5
136-144 9
145-153 12
154-162 5
163-171 4
172-180 2
Draw a

histogram to represent the given data.

° Watch Video Solution

143. The length of 40 leaves of a plant are measured correct to one

millimetre, and the obtained data is represented in the following table.


https://dl.doubtnut.com/l/_BuFiK1Om9kVD
https://dl.doubtnut.com/l/_S2f3TAkllw6p

Length in mm Number of leaves
118-126 3
127-135 5
136-144 b
145-153 12
154-162 5
163-171 4
172-180 2
: Is there any

other suitable graphical representation for the same data ?

° Watch Video Solution

144. The length of 40 leaves of a plant are measured correct to one

millimetre, and the obtained data is represented in the following table:

B FC R ==

Length (in mm) Number of l-!!ﬂ-__l
118 - 126 :
127 = 135 g
136 - 144 12
145 — 153 g
154 = 162 p
163 - 171
172 - 180 z i

et the EIVEN


https://dl.doubtnut.com/l/_S2f3TAkllw6p
https://dl.doubtnut.com/l/_D9tp1NWhZCop

Is it correct to coclude that the maximum number of leaves is 153 mm

long? why?

° Watch Video Solution

145. The following table gives the distribution of students of two sections

according to the marks obtained by them:

Section A

Marks Frequency

(1-10 3
10-20 9
20-30 17
30-40 12
40-50 9

Section B

Marks Frequency
- 8

0-10

10-20
20-30
30-40
40-50

19

15
10
1

Represent

the marks of the students of both the sections on the same graph by two

frequency polygons. From the two polygons compare the performance of

the twosections.

o Watch Video Solution



https://dl.doubtnut.com/l/_D9tp1NWhZCop
https://dl.doubtnut.com/l/_CduljVzXgkTX

146. The runs scored by two teams A and B in the first 60 balls in a cricket

match are given below:

Number of balls | Team A | Team B
1-6 2 3
7-12 1 o
13-18 3 2
19-24 9 10
25-30 4 -
31-36 5 6
37-42 6 3
43748 10 4
49-54 6 8
55-60 2 10
Represent

the data of both the teams on the same graph by frequency polygons.

° Watch Video Solution

147. 100 surnames were randomly picked up from a local telephone

directory and a frequency distribution of the number of letters in the


https://dl.doubtnut.com/l/_n0Likx7jLHuk
https://dl.doubtnut.com/l/_rD9SJQ8QM5dX

English alphabet in the surnames was found as follows :

Number of alphabets | Number of people
1-4 6
4-6 30
6-8 4
8-12 16
12-20 4
Draw a

histogram to depict the given information.

° Watch Video Solution

148. 100 surnames were randomly picked up from a local telephone
directory and a frequency distribution of the number of lettes in te

english alphabet in the surnames was found as follows


https://dl.doubtnut.com/l/_rD9SJQ8QM5dX
https://dl.doubtnut.com/l/_nrIVjGMJ7WWj

Number of letters  Number of sumames

1-4 &
i-6 30
6-8 4
B-12 16
L-20 4

Write the class interval in which the minimum number of surnames lie.

° Watch Video Solution

149. Mean, median and mode are measured in same units. Is it true?

° Watch Video Solution

150. Class mark of 60-90 is 75. Is it true?

° Watch Video Solution



https://dl.doubtnut.com/l/_nrIVjGMJ7WWj
https://dl.doubtnut.com/l/_w5Vk24OpdB6p
https://dl.doubtnut.com/l/_ndlmd0yDgxZK

151. If the mean of 2,4,6,8,a,b is 5, find a+b.

o Watch Video Solution

T T T X T T
152. jianof =, =, = = and = is 6. =,
5 Ifthemedlanof2, 31 5and 6(1’>0) is 6. then find 5

o Watch Video Solution

153. If the median of 33,28,20,25,34,x is 29. find the maximum value of x.

o Watch Video Solution

154. If the mode of 13,14,15,14,16,15,x is 14, find the value of x.

o Watch Video Solution



https://dl.doubtnut.com/l/_7QBbUqYXP4bO
https://dl.doubtnut.com/l/_eo13tZ7tSIXq
https://dl.doubtnut.com/l/_0QKgCzDuHg6U
https://dl.doubtnut.com/l/_wffetbz1Q0pa

155. If  represents the mean of n observations z¢, o, ......., z, , then

n
value of Z (z; — ) is:
i=1

° Watch Video Solution

156. The mid value of a class interval is 42 and the class size is 10. find the

lower and upper limits.

° Watch Video Solution

157. Let = be the mean of z,zs,...... ,Z, and y the mean of

Yy Yoo v vn e , Yn 2 is the mean of zq, x5, .. .., T, Y1, Y2 is equal to :

° Watch Video Solution

158. If each observation of a data is increased by 3, then what about the

new man?



https://dl.doubtnut.com/l/_lg6ysT5goKWx
https://dl.doubtnut.com/l/_xNp0IETt3MNW
https://dl.doubtnut.com/l/_TGW3DDecLp8z
https://dl.doubtnut.com/l/_G32ZO5RBmhlh

| ° Watch Video Solution

159. True/false

Mean, Median and Mode are measures in same units.

° Watch Video Solution

160. True/false

Class Mark of 90-120 is 100.

° Watch Video Solution

161. True/false

Mode of 2,3,9,16,3,9, is 16.

° Watch Video Solution



https://dl.doubtnut.com/l/_G32ZO5RBmhlh
https://dl.doubtnut.com/l/_BEPbkaop9O9B
https://dl.doubtnut.com/l/_gtGcipXUdGUN
https://dl.doubtnut.com/l/_JU3uiOblJ21v

162. True/false

For the set of numbers 2,2,4,5 and 12, then Mean>mode

° Watch Video Solution

163. True/false

Is arithmetic mean of 7,5]13,x and 9 is 10, then x is 5.

° Watch Video Solution

164. True/false
Empirical relatin between mean, mode and median is Mode=2Median-3

Mean.

° Watch Video Solution



https://dl.doubtnut.com/l/_A6hsPicQrttm
https://dl.doubtnut.com/l/_s8y3lQyOXCl2
https://dl.doubtnut.com/l/_B6qmL3qABe7K

165. True/false

Median 0,2,2,2,-3.5,-1.5,-3,6,6,5,6 is 3.5.

° Watch Video Solution

166. True/false
If the mean of 5 observation xx+2x+4x+6x+8 is 11, then the mean of first

three observations is 8.

° Watch Video Solution

167. Let m be the mid-point and | be the upper class limit of a class in a

continuous frequency ditribution. The lower class limit of the class is :

° Watch Video Solution



https://dl.doubtnut.com/l/_PWSqHmGBvfUo
https://dl.doubtnut.com/l/_7H5vsOrSeihO
https://dl.doubtnut.com/l/_hMO4xxQYEsbO

168. True/false
10 observations 6,14,15,17,x+1,2x-13,30,32,34,43 are written in an ascending

order. The medina of the data is 24. then the value of x is 20.

° Watch Video Solution

169. Fill ups

Data collected by an investigator himself is called......data.

° Watch Video Solution

170. Fill ups
Raw data when presented in ascending or descending order

fOrmMS e, .

° Watch Video Solution



https://dl.doubtnut.com/l/_xbE4wa0pq3eE
https://dl.doubtnut.com/l/_ED01Rtgg0J44
https://dl.doubtnut.com/l/_YrDiBdZ7Cinn

171. Fill ups

Minimum value on subtraction from maximum value gives............ .

o Watch Video Solution

172. Fill ups

Mode of the value of data which occurs ... number of times.

o Watch Video Solution

173. The besector of an angle divides it into two

o Watch Video Solution

174. Number of times a particular observation occurs in a given data is

called

o Watch Video Solution



https://dl.doubtnut.com/l/_Rq176y6KkLZ7
https://dl.doubtnut.com/l/_Zz5OVbnY8Rr0
https://dl.doubtnut.com/l/_K0DWniQYjRNb
https://dl.doubtnut.com/l/_npTE5guF8SfP

175. Fill ups
For a raw data, Range+Number of classes, gives...... to form a

continuous frequency distribution?

° Watch Video Solution

176. Fill ups
Median of following marks scored by 8 students 20,25,24,17,18,19,21,27

([ .

° Watch Video Solution

177.The figure formed by joining the mid points of the adjacent sides of a

rectangle is

° Watch Video Solution



https://dl.doubtnut.com/l/_npTE5guF8SfP
https://dl.doubtnut.com/l/_9fx2XggvzwPI
https://dl.doubtnut.com/l/_SpNXjmTeoev1
https://dl.doubtnut.com/l/_URMgB90mqf19
https://dl.doubtnut.com/l/_4aJ1kt9cxoet

178. A rectangular sheet of paper 30cmz x 18cm can be transformed into
the curved surface of a right circular cylinder in two ways namely, either
by rolling the paper along its length or by rolling it along its breadth.

Find the ratio of the volumes of the two cylinders, thus formed.

o Watch Video Solution

179. The difference between the highest and lowest values of the

observations is called:

A. frequency

B.range

C. mean

D. class intervals.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_4aJ1kt9cxoet
https://dl.doubtnut.com/l/_lDMWXGpb38PN
https://dl.doubtnut.com/l/_AsNaVoNAxS1L

180. In the class intervals 10-20, 20-30, the number 20 is included in.

A. the intervals 10-20

B. the intervals 20-30

C. both intervals 10-20,20-30

D. none of the intervals

Answer:

o Watch Video Solution

181. The mid value of a class interval is 42 and the class size is 10. find the

lower and upper limits.

A. 47 and 37

B.37.5and 475

C.37 and 47

D.47.5 and 37.5


https://dl.doubtnut.com/l/_AsNaVoNAxS1L
https://dl.doubtnut.com/l/_BbUrLyRtMBZ3

Answer:

° Watch Video Solution

182. The set of poor students in the class is :

A.35.6

B.30.6

C.331

D. 281

Answer:

° Watch Video Solution

183. Tallys are usually marked in a bunch of

A3


https://dl.doubtnut.com/l/_BbUrLyRtMBZ3
https://dl.doubtnut.com/l/_XLw37QG4NeON
https://dl.doubtnut.com/l/_mHe5eUW3OREW

B.5

C.4

D.6

Answer:

o Watch Video Solution

184. The class mark of the class 100-120 is

A.100

B. 115

C. 10

D. 120

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_mHe5eUW3OREW
https://dl.doubtnut.com/l/_aVVt4cIyE5Ek
https://dl.doubtnut.com/l/_q7twXRlazR7Q

185. Let m be the mid-point and | be the upper class limit of a class in a

continuous frequency ditribution. The lower class limit of the class is :

Answer:

o Watch Video Solution

186. Let L be the lower class boundary of a class in a frequency
distribution and m be the mid point of the class. Which one of the

followng is the upper class boundary of the class?

m — L
Am +

2
m + L
2

B.L +


https://dl.doubtnut.com/l/_q7twXRlazR7Q
https://dl.doubtnut.com/l/_vVdsZkXibYcX

C.m — 2L

D.2m-L

Answer:

° Watch Video Solution

187. If the mean of the observations : x, x + 3, x + 5, x + 7, x + 10 is 9, the

mean of the last three observations is

A 10—
B.11—
C.10—-

D.11—

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_vVdsZkXibYcX
https://dl.doubtnut.com/l/_eKLtKQASclRm
https://dl.doubtnut.com/l/_WTA0KUsgjE3s

188. Let = be the mean of z,zs,...... ,Z, and y the mean of

Yl Y2e v ne e , Yn 2 is the mean of z1, x5, ...., T,, Y1, Y2 is equal to :

Answer:

o Watch Video Solution

189. The mean of 100 items was found to be 64. later on, it was discovered

that two itens were misread as 26 and 9 instead of 36 and 90 respectively.

Find the correct mean.

A.65.31

B. 64.86


https://dl.doubtnut.com/l/_WTA0KUsgjE3s
https://dl.doubtnut.com/l/_gbM84APZWKJM

C.64.91

D. 64.61

Answer:

o Watch Video Solution

190. The mean of the following table is 8

e |
W

X 3 5

1l

13

vy |6] B | 15| p

The value of p is

A. 23

B. 25

C.24

D. 21

Answer:



https://dl.doubtnut.com/l/_gbM84APZWKJM
https://dl.doubtnut.com/l/_PWcF0q8NJ5al

I o Watch Video Solution

191. The median of the number 84,78,54,45,68,22,34,45,39,54 is

A. 45

B. 54

C.49.5

D. 56

Answer:

o Watch Video Solution

192. Mode of the data 15, 14, 19, 20, 14, 15,1 6, 14, 15, 18, 14,19, 15,17, 15 is

A 14

B.16


https://dl.doubtnut.com/l/_PWcF0q8NJ5al
https://dl.doubtnut.com/l/_EGkwWnlM1R06
https://dl.doubtnut.com/l/_e9hsJHCpsBIb

D.17

Answer:

° Watch Video Solution

193.In a histogram, each class rectangle is constructed with base as

A. frequency

B.range

C. class intervals

D. size of the class

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_e9hsJHCpsBIb
https://dl.doubtnut.com/l/_HhW3CnzsO1ox

194. A histogram is a pictorail representation of the frequency data in

which intervals and frequency are respectively taken along

A. vertical axis and horizontal axis

B. horizontal axis only

C. vertical axis only

D. horizontal and vertical axes

Answer:

o Watch Video Solution

195. In the less than type of ogive the comulative frequency is plotted

against

A. the lower limit of the concerned class intervale

B. the upper limit of the concerned class interval

C. the mid value of the concentrate class interval


https://dl.doubtnut.com/l/_knqo0tPfO1mi
https://dl.doubtnut.com/l/_BF6ubcEmmUzx

D. any value of the concerned class intervals.

Answer:

o Watch Video Solution

196. In a histogram the area of each rectangle is proportional to

A. the class mark of the corresponding class interval

B. frequency of the corresponding class interval

C.the class size of the correcponding class interval

D. cumulative frequency of the corrsponding class interval.

Answer:

o Watch Video Solution

197. In a frequency distribution, gives are graphical represented of


https://dl.doubtnut.com/l/_BF6ubcEmmUzx
https://dl.doubtnut.com/l/_8hAokL4tzNsU
https://dl.doubtnut.com/l/_ScwUOxde8VPI

A. frequency

B. cummulative frequency

C.relative frequency

D. raw data

Answer:

° Watch Video Solution

198. The class mark of the class 90-120 is

A.90

B. 105

C. 115

D. 120

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ScwUOxde8VPI
https://dl.doubtnut.com/l/_obMnFBJij5Na

199. The range of the data: 27,18,20,16,6,17,15,12,30,32,10,19,8,11,20 is

A.10

B.15

D. 26

Answer:

o Watch Video Solution

200. In a frequency distribution, the mid value of a class is 10 and width of

the class if 6. the lower limit of the class is

A.6

B.7

C.8


https://dl.doubtnut.com/l/_obMnFBJij5Na
https://dl.doubtnut.com/l/_tuam0RNVndjT
https://dl.doubtnut.com/l/_vjEwRcFBdQP4

D.12

Answer:

° Watch Video Solution

201. The width of each of five continuous classes in a frequency
distibution is 5 and the lower class limit of the lowest class is 10. the

upper class limit of the highest class is

A. 15
B. 25
C.35

D. 40

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_vjEwRcFBdQP4
https://dl.doubtnut.com/l/_H04jjwMhzks9
https://dl.doubtnut.com/l/_9dh2laAShzY4

202. Let m be the mid-point and | be the upper class limit of a class in a

continuous frequency ditribution. The lower class limit of the class is :

A. 2m+l

B.2m-l

Answer:

o Watch Video Solution

203. The class marks of a frequency distribution are given as follows : 15,

20, 25, The class corresponding to the class mark 20 is :

A.12.5-17.5

B.17.5-22.5

C.18.5-21.5


https://dl.doubtnut.com/l/_9dh2laAShzY4
https://dl.doubtnut.com/l/_pjmCCUFsKPYh

D. 19.5-20.5

Answer:

° Watch Video Solution

204. In the class intervals 10-20, 20-30, the number 20 is included in.

A.10 — 20

B.20 — 30

C. both the intervals

D. none of these intevals

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_pjmCCUFsKPYh
https://dl.doubtnut.com/l/_eWi3TM50BorA

205. A grouped frequency table with class intervals of equal sizes using
250 -270 (270 not included in this interval) as one of the class interval is
constructed observations for the following data : 268, 220, 368, 258, 242,
310, 272, 342, 310, 290, 300, 320, 319, 304, 402, 318, 406, 292, 354, 278, 210,
240, 330, 316, 406, 215, 258, 236. The frequency of the class 310-330 is :

A. 4

B.5

C.6

D.7

Answer:

° Watch Video Solution

206. A grouped frequency distribution table with classes of equal sizes
using 63 - 72 (72 included) as one of the class is constructed for the

following data : 30, 32, 45, 54, 74, 78, 108, 112, 66, 76, 88, 40, 14, 20, 15, 35,


https://dl.doubtnut.com/l/_aSe7o6kLe2PJ
https://dl.doubtnut.com/l/_RpQ1dBXLeket

44, 66, 75, 84, 95, 96, 102, 110, 88, 74, 112, 14, 34, 44. The number of classes

in the distribution will be :

A9

B.10

D.12

Answer:

o Watch Video Solution

207. To draw a histogram to represent the following frequency

distribution


https://dl.doubtnut.com/l/_RpQ1dBXLeket
https://dl.doubtnut.com/l/_T4bqH2cKTNaA

_ Class interval Frequency |
5-10 f
10 - 15 12
15-25 10
I5-45 |,
45 =75 15

The adjusted frequency for the class 25-45 is:

A.6
B.5
C.3

D.2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_T4bqH2cKTNaA

208. The mean of five numbers is 30. If one number is excluded, their

mean becomes 28. The excluded number is :

A. 28
B.30
C.35

D.38

Answer:

o Watch Video Solution

209. If the mean of the observations : x, x + 3, x + 5,x + 7, x + 10 is 9, the

mean of the last three observations is

A. 10—
B.10—

C.11—-


https://dl.doubtnut.com/l/_iadlBinXhXVA
https://dl.doubtnut.com/l/_C4LnvqKd6e1s

D.11—

Answer:

° Watch Video Solution

210. If = represents the mean of n observations xq, o, ......., z, , then

n
value of Z (z; — ) is:
i—1

A -1
B.O
C.1

D. n-1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_C4LnvqKd6e1s
https://dl.doubtnut.com/l/_9SS5cTtAHdRL

211. If each observation of the data is increased by 5, then their mean

A. remains the same

B. becomes 5 times the original mean

C.is decreased by 5.

D.is increased by 5.

Answer:

o Watch Video Solution

212. The mean of 100 observations is 50. If one of the observations which

was 50 is replaced by 150, the resulting mean will be :

A.50.5

B. 51

C.515

D. 52


https://dl.doubtnut.com/l/_qkmvsKybb5BW
https://dl.doubtnut.com/l/_nycB9G6ueUSG

Answer:

° Watch Video Solution

213. There are 50 numbers. Each number is subtracted from 53 and the

mean of the numbers so obtained is found to be -3.5. The mean of the

given number is:

A.46.5

B.49.5

C.535

D. 56.6

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_nycB9G6ueUSG
https://dl.doubtnut.com/l/_O3vYfK5EQ7xf

214. The mean of 25 observations is 36. Out of these observationsif the
mean of first 13 observations is 32 and that of the last 13 observations is
40, the 13th observation is :

A. 23

B. 36

C.38

D. 40

Answer:

o Watch Video Solution

215. The median of the data 78, 56, 22, 34, 45, 54, 39, 68, 54, 84 is

A.45
B.49.5

C.54


https://dl.doubtnut.com/l/_bCY1RQGxNtG6
https://dl.doubtnut.com/l/_3oMN4hgUkzn0

D. 56

Answer:

° Watch Video Solution

216. Median of the following numbers : 4,4,5,7,6,7,7,12,3 is

A 4

B.5

C.6

D.7

Answer:

° Watch Video Solution

217. Mode of the data 15, 14, 19, 20, 14, 15,1 6, 14, 15, 18, 14,19, 15, 17, 15 is


https://dl.doubtnut.com/l/_3oMN4hgUkzn0
https://dl.doubtnut.com/l/_AzhvJy3bq6Qv
https://dl.doubtnut.com/l/_TbL7takXfuZV

A 14

B.15

C.16

D.17

Answer:

o Watch Video Solution

218. For drawing a frequency polygon of a continuous frequency

distribution, we plot the points whose ordinates are the frequency of the

respective classes and abcissae are respectively :

A. upper limits of the classes

B. lower limits of the classes

C. class limits of the preceding numbers

D. class marks of the classes


https://dl.doubtnut.com/l/_TbL7takXfuZV
https://dl.doubtnut.com/l/_suCPbdhiLePA

Answer:

° Watch Video Solution

219. If the mean of x and 1/x is M, then the mean of 2% and 1/z” is
A M
B.M? /4
C.2M* -1

D.2M?* +1

Answer:

° Watch Video Solution

220. The mean of the ungrouped data is given by

DT
> f

A Mean =


https://dl.doubtnut.com/l/_suCPbdhiLePA
https://dl.doubtnut.com/l/_cyF58zXxzHlX
https://dl.doubtnut.com/l/_5XqZpPOOQsJ2

T
B. Mean = Z
n
T
C.Mean = Zf
don
T
D. Mean = Zf
n
Answer:

° Watch Video Solution

221. The mean of x; and x5 is M; and that of z1, x5, T3, x4 is M,. Then

the mean of ax1, ﬂ, % is
A My + m2
2
B CLMl + (M2 /a)

2

1
C. % [9(12 - 1) Ml + 2M2

0. 5 [(2(a” — 1) M, + M)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_5XqZpPOOQsJ2
https://dl.doubtnut.com/l/_6CXrJ4M6OpaK

222. If M and M, represents the mean of the raw and grouped data,

respectively then

Answer:

o Watch Video Solution

223. The mean of the cubes of the fist n natural number is

N n(n;— 1)
5 n(ni— 1)

n(n + 1)(n + 2)
C. 3



https://dl.doubtnut.com/l/_6CXrJ4M6OpaK
https://dl.doubtnut.com/l/_GRlGCoGd10F8
https://dl.doubtnut.com/l/_DV0e0DBnrlvN

D.n?+mn+1

Answer:

° Watch Video Solution

224, The mean of first 10 natural numbers is

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_DV0e0DBnrlvN
https://dl.doubtnut.com/l/_IEkgEQdfFOR0

225. The average age of a group of eight is same as it was 3 years ago,
when a young member is substituted for an old member, the incoming
members is younger to the outgoing member by

A. 11 years

B. 24 years

C. 28 years

D. 16 years

Answer:

o Watch Video Solution

226. The arithematic mean of 6,10,x and 12 is 8. the value of x is

A3

B.4

C.5


https://dl.doubtnut.com/l/_2YTFA8tqlzwG
https://dl.doubtnut.com/l/_s4r3P46ybT5m

D.6

Answer:

° Watch Video Solution

227.The mean age of combined groupd of men and women is 25 years. If

the mean age of men is 26 years and that of women is 21 years. then the

percentage of men and women in the group is

A. Men=80%, women=20%

B. Men=70%,women=30%

C. Men=50%, women=50%

D. Men=25%, women=75%

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_s4r3P46ybT5m
https://dl.doubtnut.com/l/_Gp9ET0Rsr949
https://dl.doubtnut.com/l/_32j4EwMWN558

228. If x{,T9,x3,.....,x, are the means of n groups with
N1, Na, . ... . N; numbers of observation respectively , then the mean z of

all the group taken together is given by

n
i=1

_olvereset(n) > n;y
1=

Answer:

° Watch Video Solution

229.The mean of z, x5 is 6 and mean of x1, x4, 3 is 7, find the value of

I3

° Watch Video Solution



https://dl.doubtnut.com/l/_32j4EwMWN558
https://dl.doubtnut.com/l/_K4k44LAemWao

230. Find the median of the following data:

12,11,6,7,10,17,9,15,13

° Watch Video Solution

231. Find the missing frequency k

- a P
I

x | O 10 15 20 a5,

i | 2 B k 10 5

Car the dsta 1 5§ 7T = 4 i n e

from the following data if mean is 16.

° Watch Video Solution

232. For the data 1,5,7x+1,9,x-2,3 if the mean is 4, find the value of x. Also,

find the mode of the data.

° Watch Video Solution



https://dl.doubtnut.com/l/_5W2FpDxYoVcT
https://dl.doubtnut.com/l/_03h8mnEyUBXF
https://dl.doubtnut.com/l/_IepvjrZb5Uby

233. The scores of Mathemtics test
75,69,88,95,88,64,75,95,90,88,44,59,88,67,99

find the median and mode of the data.

° Watch Video Solution

234. If a football team scored following number of goals in 1 matches,

then find mean and median of the given data: 2,3,4,5,0,1,4,5,4,3

° Watch Video Solution

235. The points scored by a basket ball team in a seris of matches are as
follows:
17,2,7,27,25,5,14,18,24,48,10,8,7,10,28

Find the median and mode for the data.

° Watch Video Solution



https://dl.doubtnut.com/l/_bI1mpov9kv50
https://dl.doubtnut.com/l/_AplcDrUEtDfG
https://dl.doubtnut.com/l/_oJD8TeUyo3uz
https://dl.doubtnut.com/l/_uqPpY4X4X5Ci

236. For what value of x the mode of the following data is 5?

1,2,5,7,5,2,5,9,2,3 x,11

o Watch Video Solution

237.Find x+y+z

el

2 MiF

o Watch Video Solution



https://dl.doubtnut.com/l/_uqPpY4X4X5Ci
https://dl.doubtnut.com/l/_wOQj8TJ3fusK

238. The mean of the following distribution is 50

SIS AL RENE LFL BAFL ESans s omsspy e——- )
| = i 10 30 50 | 70 190
Fl17|se+3| 2| m-1u |19

- T

find the value of a and hence frequencies of 30 and 70.

° Watch Video Solution

5
239. The value of C(47, 4) + Z (52 — r, 3) is:

r=1

o Watch Video Solution



https://dl.doubtnut.com/l/_Z3fL02Oyy5P6
https://dl.doubtnut.com/l/_L8X2HBytD24A

